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MATH 237 Sochacki Home Work 2 Name WE ) WES7
Oct. 18,2016 Take Home 50 Points (Print) (1 point)

All necessary work must be shown for credit. Your work must represent the question asked. You may NOT use
computers. You may use your notes or text. Your work must be neat or I will not grade your work. You may
discuss this assignment with others, but all work turned in must be your own work and MUST only be on these

sheets.
I have ncither received nor given help on this exam. d@ aon %% '
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1.Let r(t)= 211+t i+ Sl;l% +(1+2t) ' k . Give the following. (6 points})
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2. Consider the curve 7(¢) =<(2—t)e‘,(8—t2)e > (12 points) v
(2) Give an ACCURATE sketch of this curve for —c < ¢ <c0.
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{b) Give the speed along this curve at ¢ =2.
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(c) Give the unit tangent vector at 1 =2.
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3. Consider the curve ;(t) = (8 cost+8tsint,3t%,8sin — 8¢ cos t) . (12 points) (6
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(b) Give T(t), N(&), B(t) at z=%.
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(c) Give the curvature at £ =7,
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(d) Give the equation of the plane that contains the acceleration vector at I=E, !\ = (43) +L64)
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4. Let z= f(x, y)=43f:$3y.Describe the gra!ph of this function. {6 points)

(a) Describe the graph of this function.
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(b) Simplify f(x+Ax,y+Ay) - f(x,). .3-:: F\ oM<
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(c) Describe the level curves for this function.
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5.z=f(xy)=
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(a) Give the domain and range of f

x*_el= 0 IJ
@ ¥ = x* f‘ j /
N = ln)('Z':?_\WX l

(b) Give z, and z,

5
O 2= 4(x% ef’)" 2, = -2 (x>e e') “ax
2

-3
2y =20 V<) = 26 (=€)
(c) Give z,,and z, - e\{ )‘%

(Z4)y = ex(x )= (‘@) —éxe’(x

D (e - st (e E ) 2o e €

~2s 5
DICONIER NG £ by (x2 &) ()

2
(a) Describe the domain and range of f
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